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COSC 5050 - Distributed Database Applications

Week 6 Homework

Given the following package code:

package id_stack_pkg is

    procedure clear_stack;

    procedure push (cust_id in customer.cust_id%type);

    procedure pop (cust_id out customer.cust_id%type);

    function more_in_stack return boolean;

    underflow exception;

end id_stack_pkg;
package body id_stack_pkg is

type table_type is table of customer.cust_id%type 

index by binary_integer;

    stack table_type;

    idx binary_integer := 0;

    procedure clear_stack is

    begin

        idx :=0;

    end clear_stack;

    procedure push (cust_id in customer.cust_id%type) is

    begin

        idx := idx + 1;

        stack(idx) := cust_id;

    end push;

    procedure pop (cust_id out customer.cust_id%type) is

    begin

        cust_id := stack(idx);

        idx := idx - 1;

    exception

        when no_data_found then raise underflow;

    end pop;

    function more_in_stack return boolean is

    begin

        return (idx > 0);

    end more_in_stack;

end id_stack_pkg;
package big_customers_pkg is

    procedure find_big_customers;

    procedure print_big_customers;

    procedure process_big_customers;

end big_customers_pkg;
package body big_customers_pkg is

    procedure find_big_customers is

        cursor c1 is

            select * from customer;

        cust_record customer%rowtype;

    begin

        id_stack_pkg.clear_stack;

        open c1;

        loop

            fetch c1 into cust_record;

            exit when c1%notfound;



if (cust_record.account > 200) then



    id_stack_pkg.push (cust_record.cust_id);

            end if;



end loop;

        close c1;

    end find_big_customers;

    procedure print_big_customers is

        cursor c2 is

            select * from customer;

        cust_record customer%rowtype;

        a_cust_id_num number(5,0);

        underflow exception;

    begin

        loop

            exit when not(id_stack_pkg.more_in_stack);

            id_stack_pkg.pop(a_cust_id_num);



open c2;



loop

                fetch c2 into cust_record;



    exit when c2%notfound;

                if (cust_record.cust_id = a_cust_id_num)



    then

                    dbms_output.put_line(

                        cust_record.cust_id||'  '||

                        cust_record.lname||'  '||

                        cust_record.account);

                    exit;

                end if;

            end loop;

            close c2;

        end loop;

    exception


  when underflow then


      close c2;

            dbms_output.put_line('Stack error - empty stack');

    end print_big_customers;

    procedure process_big_customers is

    begin


  find_big_customers;

        print_big_customers;

    end process_big_customers;

end big_customers_pkg;
and the database table

Customer Table
	cust_id
	lname
	fname
	mid_i
	account



23348
Miller
Gary
H
300.00


38904
Frank
Tom
R
150.00


41889
Hall
Nan
F
210.00


45600
Dahl
Cory
G
340.00


59921
Yount
Vic
E
400.00

1. List the sequence of procedure and function calls initiated for this PL/SQL command (i.e. List what procedures and functions get called and in what order are they called.  Show all procedure and function calls; even repeated ones)?


process_big_customers 

2. What is the output for this PL/SQL command?


process_big_customers 
3. Using the following tables 
Inventory Table
	Item_Num
	Description
	Quantity
	Price
	Supplier_ID



PK



FK  Refers to






Supplier(Supplier_ID)


NUMBER(8)
VARCHAR2(30)
NUMBER(5)
NUMBER(16,8)
NUMBER(8)

Supplier Table
	Supplier_ID
	Name
	Street_addr
	City
	State
	Zip_cde



PK






NUMBER(8)
VARCHAR2(30)
VARCHAR2(30)
VARCHAR2(30)
CHAR(2)
NUMBER(5)

Develop a procedure with exception handling that accepts a supplier ID number as an input parameter, then checks the quantity of all inventory items provided by that supplier.  If all of the inventory records show a total quantity of zero (i.e. we don’t currently stock any inventory items from this supplier), the procedure will delete the supplier record and all inventory records associated with that supplier.  Otherwise it will raise a user defined exception called still_have_inventory_items. Define an exception handler that will not delete any records and will print out a message that the supplier can’t be deleted and prints the total count of inventory items from this supplier. 

The procedure takes an input parameter for supplier id and an output parameter for message, as:
procedure delete_supplier(

supplier_id_in in supplier.supplier_id%type,

msg_out out varchar2); 
If the supplier is successfully deleted, the message identifies the deleted supplier name. 
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